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Z mztEA ] ERANIE m = me ke A = ERNIE m & p: 3 - — | L E‘ #REz = e >
(B) (WL H BB AT HEADLEEDHSm) | (P ENLHEEN RS 558D LEE DB %i%o’ftfégfﬁi‘ﬂﬁ%%éﬂﬁ’%ﬁﬁ AR 7E R HIAAETZ E
() B BI=& % 5% 100kN,/mi L T DK DBH D 1 DBAFEKRN/ ) (G) HHER A3 LT O R0 HFED 1 DBABKRN/m) EMBEEIHEEHRRLBEBHRIRHALR
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RKAES % =
(A) (B) (C) (D) (E) (F) @) (H) (A) B) (©) (D) (E) (F) (@) (H)
(1) 151.3 1.0 99.6 1.0 15.4 3.0 15.1 3.0 151.3 1.0 974 1.0 154 3.0 13.7 2.7
(2) 151.3 1.0 99.6 1.0 15.4 3.0 15.1 3.0 151.3 1.0 96.9 1.0 154 3.0 13.7 2.7
( 3) 130.9 1.0 100.0 1.0 - - 11.7 2.3 130.9 1.0 96.7 1.0 - - 11.7 2.3
( 4) 131.1 1.0 98.7 1.0 - - 12.7 25 131.1 1.0 98.3 1.0 - - 12.7 25
(5) 133.6 1.0 99.8 1.0 - - 13.3 2.6 133.6 1.0 99.7 1.0 - - 13.3 2.6
(6) 150.6 1.0 99.8 1.0 15.8 3.1 15.0 3.0 150.6 1.0 99.7 1.0 15.8 3.1 13.6 2.7
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